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In Fredanel's double mirror. the angle between the mirmors 162
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Section A
Answer all questions.
Eaich question carries Y weightage,
(b} 17°
(d) 187"

[ phase change suffered by hight when it undergoes a reflection at the boun: d&i!ﬁ'-.t!_'n .
denser medium is;
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I the odd zones are transparent in 8 zone platw, it is said o ber

in Fraunholer diffraction, the incident wave front 15

(a)

Led

fm)
Ll

LEj

ig)

Spherical. (b
Cylindrical id)
An example of a biaxial crystal is:
Aragonite. b}
Quart. td)
In negative crystals ;
Ly < U, (1)
Hig = Uy (d)

Plane.
Paraboloidal.

Oalcite.
Tourmaline,

Uy > b,

None of these.
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(a) B0 He :

(c) 25He _ !

9, '«l’arjr hlghpa.k power pumn-m mmhyutmr An he OF
10, In He-Ne laser, the pressure maintained in the discharge

(a) 1 mm. of Hg (b) mmmnfﬁ-
(¢} 76 cm. of Hg. (@ 38 em. of He:
11. Ifny and ny are the refractive indices of the core and ﬂilﬂﬂmﬂmﬂﬂﬁh"ﬂlﬁ’ﬁlﬁ
o] o L o
R [“—a] i ﬂn[ﬂn]
(cy &inT ‘]Lﬁ] (dy  Sn [%].

12, The maximum value of incident angle to propagate the light throug

Section B (Short answer t:.'p'i! quﬂﬂ:im)

Answor all quemarm
Each question carries 1 weightage.

L3, Twe independent sources are not coherent. Why ?
14. Draw the ray diagram for the image formation in Fresnel's |
15, Define grating element.

16. What is meant by plane of polarization 2

17. Define specific rotation,

18. Cross-wires are not used in Huygen's eyepiece. "i'i"h:.r 2
19. Define the efficiency of a rectifier,

20. What is meant by Hluacﬁvﬂfﬁsimmwmrmnﬂm&w
21. Draw the energy level dmgrunufﬂuhyhm |
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Bach question carries 2 woig)

21 Tn s Newton's ring experiment the diameters of the 15

- Describe Ramsden's evepiece,

" Describen sami-conductor iasor.

0,436 cm. If the radius of the plano- m,m;hmr i
pii -ennvex: lens 18 100 em, o

What is the highest order spectrum which may be seen-with meonochr
550 nm. by means of a grating having 500 lines/mm.?

 Calculate the thickness of & quarter wave plate. Given = 1.658, g = 1544, an

In a common base connection, the current amplifiestion factor is 0.9, I the emitt
determine the value of the base current.

(alculite the numerical aperture and aceeptance angle if the refractive index of the core 18 1825
amd that of the clidding is 1.47

B ?Qr ‘lﬁ’mmi]ﬂituph' i
Section D (Essay questions)

Anstoer any two quesiions
Fach question carries 4 weightage.

Btate Fermat's principle. Derive law of reflection and law of refraction using Fermal's |:rE:u_iglé.
Expluin with necessary theory, the Fresnol diffraction at o strajght edge.

Expluin thie working of an npn transistor. Dreaw and explain the input and outpul chinracteristics
of npm transistor in common emitter configuration.

(2 x 4 = 8 weightage)
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